uon (00 190 60 120)

520000000

U000 FOODOOOO »00000000 o, 00 ¢+0000000: F =
F(r,v,t), OOF0O »r0O0000O0O0O0O0OF(r)000D0O0OOOOOOODOODODO
o0 pPOOO0OODOODOOODDOOODO0OOOODLODOOOOOLODOOOO
ooboobobOo pOODODO0OOOOOODODODOODODOOODOOO
gobdgogo

00000 : F(r), E(r), H(r),--- (000000O000O0---)

00000 :U(r),é(r),--- (0000000000000O0000OO0:-)

00000000 F=F(r)0OoooOo

0000000000000 0000 POOOOOOOOOO 000000
000000 Wy (P;0)0000

W(t ty) = /t: (F-C;—:) dt = L(F-dr) =W, (P;0) (5.20)

(0)

QDDDDDDDF(r):(i),DD O000000P = (z,y) 00000 O

0 PO0ODC0OOO0OO00 v, 0 — (21,0) — (21,41) O 11, O — (0,31) — (21, 41)
O ”}/[[[DDDD

1
W’YI (pa O) =T+ 533191 ) W’YH (pa O) =T+ 1y, W.

YIII

(P,O)=xz, (5.21)
00000 (000000 p. 6100)

w.,(P;0)0 Pp,OOD0O0ODOOOODA0D00O00000OOF=F(r)00000OO
0000000000000 00 (000000 D)000oooooooood

(D0Doooooooooon)

000 W,(P;0) = [(F-dr)00000000000000000000 W_,(0;P)
—f (F-dr) D0O0OW_(0;P) = —-W,(P;0) 0000000000 4 0000
Oo0w,(P;0)=W,(P;0)0000W,(P;0)=-W_,(0;P). 000O0W,(P;0)+
W_,(O;P)=0. 00000000 POOOOOOO o0OOOOOOOOOOOO
C=7U(—y)0000 [,(F-dr)=0 00000000 §(F-dr)=0000000
0000 FOOOODOOOOODODODDODOO0ODOD0OODOOOOODODDOOODOOO



goooouooooooooooo f(F-d’r‘):ODDD OF O00O0ood
O000000 O,00 PODOO 100000000000000 ~v, 4y 0000
W, (P;0)+W_,(0;P)=0. 000 W,(P;0)=W,(P;0). 000O0W,(P;0)0 v
D000 W(P,0)0000

0oooo
f@rwpw — FOOOO (5.22)

000 F=F(r)0OOOOOOODO ODOOOO
W(P,0O) = —U(P) + const (5.23)

000000000U(P)00000000 (00000000000)000000
0OW(0;0)=0000const=U(0) (0000000000000 0)000000
000007T(P)—T(0)=W(P;0) 00

T(P)+U(P)=T(0)+U©O)=E (0000D0D0) (5.24)

goomogboobobooooobobboon

(00000000000)

DOOF=F(r)00000000

W(P,O) = —=U(P) + const = —U(r) + const (5.25)

O0000r-0000000000000W(P;,O)000000000002,y, 20
gbobbodboobboobobuoooggd

Wz + Ax,y,z;0) — W(x,y, z;0) Ulx + Ax,y,z) — Ulz,y, 2)

Ax T Ax (5.26)
0
| [etAs o+ Az
00 = ey (Fpdx + F,dy + F.dz) = A—x/x F.dx (5.27)
O00Az—00D0OODO
F, = —EU(x,y, z) (5.28)
Ox
o000 00000000000
F, = —QU(x,y,z) , F, = —EU(x,y,z) (5.29)

0y



gbobooooog

F=-VU=-gradU (5.30)
goooogo
9
% o 9 9
— — 9 —p - -
V =grad = %y € + ey(?y + e (5.31)
9z
(gradient 00000 0O)
Taylor 0O 00O
ou
AU(r) = (8_7' : Ar) + O((Ar)?) (5.32)

0P=()=(sy20000000000000000000

O00000000U/or)0000000000000000000000O0O0O0O0O0

ou

e, = 1o (5.34)
5|
good
ou 5
AU(r) = o (en - Ar) + O((Ar)?) (5.35)
O000OAr=ne, 0000
AU(r) = ou n+ O(n?) (5.36)
or
gdd
. AU(r) |0U
1 =|— .
lim — o (5.37)

(000000000000O00000)AU(r) 00000000000 mMOOO0
oooooobobooogobod FOOOOOOOoDOODOOODOOO

(000)



000000000000 0000000 U0 »+0000 r=r|00000
gbobuougbbguogbouoobbbogbbboobbod

U (5.38)
0 Fle 000000000000 O0O00O0O0OF ||e, (0000)000000 F
0000000000000000000000 r=»|000000000
0o
(0000000)(20000000)

20000000 f(z,y) 0000

f(ZE—f-AZE,y)—f(I,y) d

: Ay) — f(z, 0
inﬂ]f(x y+ z) flzy) S f @)

(5.39)
0000000 0(9/0z)f(x,y), (8/dy)f(z,y) 00000 »00000y 00000
000 (fu(z,y), fy(z,y) DOO0O00)0000O0Taylor 0000
0
o+ 809) = o) = (5270) ) Ao+ O(BaP)

ﬂ%y+Aw—f@w%=G%ﬂ%@)ﬁy+0uﬁw% (5.40)

0

flz+Ax,y + Ay) — f(z,y + Ay) = ((%f(x, y+ Ay)) Az + O((Az)?)  (5.41)

0 Eq. (5.40) 00000000

flx+Ax,y + Ay) — f(z,y + Ay) = G%ﬂ%w)ﬁx
+O((Ax)?, (Ay)?, (Az)(Ay))  (5.42)
O00Eq. (5.40) 00000000

flx+Az,y+ Ay) — f(z,y)
= (flz+ Az, y + Ay) — f(z,y + Ay)) + (f(z,y + Ay) — f(x,y))

::G%ﬂaw)Am+G%ﬂ%w)Ay+OWM¥&Awa@@UW»“4$
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DDDDDDDD(%ﬂ@wﬂm+<%ﬂ@w>mﬂ]QDDDDf@w)DDDDD
00 d4df0000

df= <(%f(:r,y)) Az + <8%f(-r,y)) Ay (5.44)

000 f(x,y) =20000(9/0)f(x,y), (0/0y)f(z,y) DODOOO 1,0000 do =
Azx. 000 0Ody=Ay. OO0

15 = (g tte) ) dot (@) dy (5.49)

2000000

9\ 0? 0 9\

2
goodaon %{ayf(x,y)DDDDDDQDDDDDDDDD

0? 0?
axayf(x’y) © Oyox

fz.y) (5.47)

googgd
(0ooo)
0000200000000000 P=P,y),Q=Q(x,y) 0000
w = Pdx + Qdy (5.48)

00000 (differential form) 00 0000000“00000007' 00000 f(z,y)
0O0oooP, QO

P@wﬁj%ﬂ%w, Q@wﬁj%ﬂ%w (5.49)
000000000000 (w=df)
(10oooo0)
P=P(z)(00)000w=P(z)de 00000

df ()
dx

= P(z) (5.50)

O000OP(x)OOOODO Riemann 00000 f(x) 000000000000 0w=
P(z)dr = (df(z)/dx)de=d f. 00000 f(x) 000000000

0)0DO0OO0OO0DO0OO00D0O000D0D0000D0D000
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(0oo)

(00oo0)0o0O00oooo0

v(s) = (x(s),y(s))  s€0,{]
v(0)=0 , v(l) =P (5.51)

O00000000 w=Pdr+QdyOO0O00O0O

/WW _ /W(de—i—Qdy) :/Oe <P%+Q%) ds
= [ {Peenwsn ™ + oo von % as

_ /0 F(s)ds (5.52)

000000000 0(f(s) = P(x(s), y(s) L + Q(x(s),y(s) 22 000 0s 00D

s=s(t)(0000000)  te [t t]
s(te) =0, st)=¢, "$t)>0 (DDDOO) (5.53)

oo

/Vw:/ogf(s)ds:/totl f(s(t))dsd(f)dt (5.54)

00000000000¢t—4(s(t)=w(#)0000000000000000000

/yw:/mw (5.55)

os(u)=0—uwithuel0,/O0O0OO0

ds(u)
du

/%w = /ng(S(U))dz(:)du:/go F(s)ds

= —/Oéf(s)ds = _Lw (5.57)

goggobuogoobbboodg yObuoboobbbuoiyn=—00O0O04d

——1<0 (D0O0O) (5.56)

oo

(0ooooooon)



0000 w=Pdr+Qdy 00000000000 f=f(z,y) 0000 w=df
000000 f(r,y) 00000 wO000O000000000

of _ of _
=P 3= (0D) (5.58)

0000000000 20 (zo,5), (zy) 000 (0000)0000000 ~(s) O
000

/7 w = / af = f(z,y) — f(xo,m0) (5.59)

(00)DODDODODO wOODDOOODODODODOOO
<~ ouoggoobogod CDDDDwa:(]

@o)
— x=x0,y=y JUOODOO.K.

ﬁv(x,y)DDDDDDDDDDDDDDD
/w:/w:-~- (5.60)
ol v
00+, - 000 (z,9) 000 (20,5) 000000000 Fla,y) 0000
o= F@w - Flaow (5.61)
N
U0 dz-000004

1*”(ff€+h,y)—F(ﬂ's,y):/(IDclaL~+6201y)Z/x+ P(&,y)d¢ ,

o

F(z+ h,y) — F(x, 1 [oth
b = ) - [ P e (562
I n.
P(z,y)) 000000h— 0000
%F(m,y):P(l‘,y) ;0o (5.63)
gog
0
Y
000 F(z,y) 000000000
w = Pdz + Qdy = or dx + or dy=dF (5.65)
ox oy

(H.OODODOO000000(00)00)



